Quiz 2

Name:

Student Number:
1. (4marks) X =(2,a) y=(b,3)

a) Solve foraand b if 2'>){+5'§='6
'2.(2)‘-1) 4 5’(L)}33 :{D,O)
(4,za) + (5h, 15) =(2,9)

(4 + 5, 2 at15)=(0,0)
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(6 marks) Consider a game of baseball where the x axis extends along the line
connecting the batter at the origin and first base at 50 meters away. The y axis is
the height of the ball above the ground. Suppose a batter hits a ball traveling in
the x direction such that

x=20t

y=20t-5t

a) When does the ball hit the ground?
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b) Where does the ball hit the ground?
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¢) What distance does the first baseman need to run to catch the ball? Assume
the player is very short and catches ball at ground level.
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d) What is the average speed of the first baseman?
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Total = 10 marks





